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Integral Table

JEG)+g(dx = [ (x)dx + [g(x)dx

J’(f (x) —g(x))dx = J’ f (x)dx —J’g(x)dx

J 1(x)dg(x) = T(x)g(x) ~ [g(x)df (x)

X

Iaxdxz a +C, azl, a>0
Ina

Xn+1

Ix“dxz +C, nz-1
n+1

J’ldlen|x|+C

X

J’exdx:eX+C

J’sin xdx = —cosx+C
J’cosxdx:sinx+C
. J’sec2 xdx =tanx +C

. J’csc2 xdx = —cotx +C

.J’secxtanxdx:secx+C
.Icscxcotxdx:—cscx+C
n+l
: J’(ax+b)"dx:M+C, az0, nz-1
a(n+1)
: J’(ax+b)‘ldleln|ax+b|+c, az0
a
n+l
.J’x(ax+b)”dx:(aX+2b) Eax+b_ b H+C, az0, n£-1-2
a On+2 n+1Q
: J’x(ax+b)'1dx:5—%In|ax+b|+c, az0
a a
o 1H b A,
.J’x(ax+b) dx = —[nlax +b| + C, az0
a‘ [ ax+b
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19.

20.

o

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

-

32.

33.

34.

35.

dx
I x(ax + b)

+C, b#0

ax b

J'(VaX+ )dX—z(‘aX b)™ +C, az0, nz -2

+2)

4dx 2+Jax+b +b
I J'x\/ax+b
2 - ax+b
= +C, b<O
J'x\/ax+ \/7
= “aX+b_\/B+C b>0
J’x\/ax+ \/_ Jax+b ++b|
\/ax2+bdX:_ ax+b+3I dx iC
X X 2J xyJax+b
J,zdx :—\/aX+b—iIL+C,b¢O
x*Jax+b bx 2bJ x/ax+b
i 2dx 5 =lantXic, azo0
a‘+x° a a
X X 1 4 X
= + tanm—+C, a%0
J'(a2+x2)2 2a’(a® +x%) 2a’ a
J’ de z—il X+a+C, az0
a® —x 2a |x-—a
X X 1 dx
= + , az0
J'(az—xz)2 2a’(a® - x?) ZaZIaz—x2

et

In(x +va*+x?)+C

2

J’\/a2 + X2 dx :gxlaz +x° +a7ln(x+\/a2 +x?)+C
4

J’xzx/a2 + X2 dx :g(a2 +2x*)Wa® + x? —%In(xh/a2 +x?)+C

va? +x?

|
I

X2

2 dx=
[ ™

dx =

[~2 2 [~2 2
Na X :X dx = In(x +a? +x?) - Y& TX
X X

a+va’+x°

X

a’+x?-aln +C

+C

2 [A2 2
—%In(xh/a2 +x2)+%+c
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36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

J. dx __:|.Ina+\/a2+)(2 iC
xya? + x? a X
2 2
a’ +x
+C, az0

J. dx _
- 2
x2ya? + x2 a‘x

=sin~ —+C az0

Im
IV dX——\/a 2sm 1Xic. az0

a

J’xzx/a2 - x%dx :%sin‘lg—gx\/az -x*(@*-2x*)+C, az0

2 _ 2 SR
I a X dX:\/az—xz—amu.l_C
X X
a2 — 2 _ 2
| X dx"s'”_lg 47X 4c, az0
X

2 2
| X ax=2sint X Lufa?x74c, azo
Jva® - x? 2 a 2

dx
e C.a%0
J’x a?-x2 an X a
dx _ a? —x2
IXZ /aZ_XZ - aZX +C’ aio
I nix ++x* —a?|+C
Vx? -a? ‘

+C

2
I Xz_azdxz_sz -a’ —a—ln‘X+ x? —a?

J’(V ) dX_X( X —a ) n J‘(,I )n de n#-1

dx _X(Wx*-a®)™  n-3 dx

Iw a’)" (2-n)a’ (2—n)a2I(m)n-z’ n

[y2 _ n2\n+2
IX(\/XZ_aZ)ndX:%_I_C' n¢_2

Zz2
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o1.

52.

53.

54,

55.

56.

57.

\I

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

4
Ixzx/xz —-a’dx :§(2x2 —a’)Yx* -a’ —%In‘x+ x> —a’

2 2

IX—_adx =+/x?—a? —asect|=

X

+C,

a2
dx :7In‘x+ x? —a

X2
[

az0

2 +§ [\2—a? +C

2 2 2 2
x? —a x* —a
I—dezln‘xh/xz—az -——+C
X X
dx 1
=—sec™ +C az0
J’x\/xz—a a a
dx x? —a’
= +C, a#0
J’xlexz -a’ a’x
] X sin2x
J’S|n2xdx:—— +C
2 4
. sin xcosx n-
Ism“ xdx = — Ism” 2x
X S|n2x+C

J’cos2 xdx = = +
2

sin(a—bh)x _cos(a—h)x
2(a—b) 2(a+h)
cos(a+h)x cos(a—b

J’sin axsinhbxdx =

+C, a’#b?

J’sin axcosbxdx = —

sin(a —b)x N sin(a +b)x

)X+C, a’ #b?

2(a+b) 2(a—h)

J’cosaxcosbxdx: +C, a’? #b?
2(a—hb) 2(a+b)

J’sinaxcosaxdx:—coszax+c, az0

4a

i N+l X
J’sin"axcosaxdx: +C, az0, n#-1

(n+Da

n+l

J’cos"axsinaxdx:—u+c, az0, n#-1

(n+1a
J’S'naxdx:—lln|cosax|+c, az0
cos ax a
J’C?saxdxziln|sinax|+c, az0
sin ax a

J’sinn axcos™ axdx

+C
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69.

70.

71.

72.

73.

74.

75.

76.

77,

78.

79.

80.

81.

[N

82.

83.

84.

IS

sin" ™ axcos

m+1

ax
+

n_

a(m

dx

+n)

-2

m+n

b-c tanEYZ

tan

Ib+csinax - avbh? —c?

dx

-1

b+c

In

|c+bsin ax ++/c? —b? cosax|

Ib+csinax:a1/cz_b2
= —tan@ aXH+C a#0

——tanm+ §+C, az0

Il+smax

Il sin ax

dx

2

‘ b + csin ax

Ib+ccosax - avb? —c2

tan”™

b-c ax
,/ tan —
b+c 2

dx 1 In|c +bcosax ++/c* —b? sin ax|
Ib+ccosax avc? —b? ‘ b + ccosax ‘
dx 1 ax
J’—:—tan—+C, az0
l+cosax a 2
dx 1 ax
J’————cot—+C, az0
1-cosax a 2
. 1 . X
xsinaxdx = —-sinax ——cosax+C, a#0
a a
X" n
Ix“sinaxdx:——cosax+— x"*cosaxdx, a#0
a a
N x" . N, o
X cosaxdxz—smax——Ix sinaxdx, a#0
a

a

J’tan axdx :_laln|cosax| +C, az0

J’cot axdx = iln|sin ax| +C, a#0

1
tan® axdx = —tanax-x+C, a#0

a
J’ cot? axdx =
a
tan"*
J’ tan" axdx = an ax
a(n-1)

1
——cotax—-x+C, a#0

—Itan”'zaxdx, az0, nzl

Ism”axcos axdx, a#0, m+n#0

%+C, az0, b?>c?

+C, az0, b?<c?

+C, az0, b?>c?

+C, a#0, b?<c?
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cot"™ ax

85. J’cot" axdx = —————
a(n-1)

—J’cot"‘zaxdx, az0, nzl
1

86. J’secaxdx:—ln|secax+tan ax|+C, a#0
a

8

\I

1
. J’cscaxdx =-=Inlcscax +cotax+C, a#0
a

n-2
Sec aXtanaX+n_2J’sec"'2axdx, az0, nzl
a(n-1) n-1
csc" % ax cot ax -2
a(n-1) n-1
sec” ax
na

88. J’ sec” axdx =

89. J’csc” axdx = — ‘[csc”'2 axdx, az0, n#l

90. Isec“axtanaxdx: +C, a#0, nz0

csc" ax
na

91. Icsc”axcotaxdx:— +C, az#0, n#0

92. J’sin'laxdx:xsin‘1ax+1\/1—a2x2 +C, a#0
a

93. J’cos‘laxdx:xcos'lax—ixll—azx2 +C, a#0
a

94, J’tan'1 axdx = xtan ™ ax—ziln(1+ a’x?)+C, a#0
a

ax

95. Ixe"“xdx:e—z(ax—l)+C, az0
a

96. Ibaxdxz b +C, a#0, b>0, b#1
alnb
x"e®™ n _
97. [x"e¥™dx = ——x""e®dx, az0
| x al

ax

o e N
98. Ie smbxdx——azerz (asinbx —bcosbx) +C

ax

99. Ieax coshxdx = e—(acosbx +bsinbx) +C
a2 +b2

100.J’Inaxdx:xlnax—x+C

x"(Inax)"

101 [x"(Inax)" dx = nT_lfx”(ln ax)"tdx, n#-1

n+1
m m+1
102.I('”ax) ax= T o
X m+1
103.J’ dx =In[inax|+C
xIn ax



